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Find the area bounded by the graphs Culiiail) (s ) puanall Adhial) dablca 234
of y=+xandy = x2. y=x2 5y =Vx ouibad)

O A=+
6
A8
o —3
16

O a=7
1

O A—§

Find the area bounded by the curves Sliaiall Gu 5y guanall Adkaial) Aalecs 2
x=5yandx =4+ y% X=4+y% 3 x=5y

O a= LG((4+y2)—5y)dy

4
o A=£ (5y — (4 +y?))dy

20
O A= (Gx—(4+x%))dx
5

"
O A=f ((4+x2)—5x)dx
5 5
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Find the volume of the solid with apl) ghaial) daliia ga acaall a2 a4
cross sectional area dA<x<4 M Alx) = 2(x + 1)2
Alx) =2(x+1)*for1 <x <4

© v=39
21
O v=—
2
O V=178
o v=21
Let R be the region bounded by Aol Bagaaall dibid) 4 R (sl
y=x*y=0andx =1. X =13y=0.y=x
Compute the volume of the solid R (hse G 0585 o) alaaall pas o)
formed by revolving R about the X gsaal) Jsa
X —axis,
v 1
==-7
O 5
G V=s
=-7
2
o V-=-
32
V=—
O =T
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Let R be the region bounded by Ay Bagaaad) dghiad) & R sil

y=2—-x,y=0and x =0. X =03y=0y=2—x
Compute the volume of the solid R (hgs (e OS5 ) pliaal) paa caal
formed by revolving R about the .y =3
y = 3.

3

2

1

R
R 1 2 3

2 2
@) V=jrr(3)dx—f (3 —(2—x))%dx
0

0
2
@ V=fﬂ'(3—(2—x))2dx
0
2 2
O v= 3)2dx — 2 —x)%d
J;'ﬂ'() x fu?r( x)“dx

2 2
O V=j n(3)2dx—fn(3—(2—x))zdx
0

0
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Use the method of cylindrical shells ~ aaal) slal duighud) Cilaal) 4djh asdiu)

to find the volume of the region Aoy B gaanall dlkial) ()99 (e Q9SS (g
bounded by y = x* and the x —axis, (=1 <x<1Jdax jeaallgy = x?
—1 < x < 1, revolved about X=2 s
x = 2.
&Y
1
A 0 1
|
1
O ¥= f 2m (2 — x)x%dx
-1
1
Qo Vv =J 2 x(2 + x)%dx
-1
1 -
O V= J‘ 2m (2 + x):rzdx
-1
1 -
O Vv= f 2m x(2 — x)%dx
-1
Find the arc length of the portion of aiall Ga gl Gagdll Jgh aagl
the curve y = 3x + 2 with 0=x=<=2 y=3x+2
0 <=x = 2.

O s=v10
O s=2V10
QO s=5

O s=2V5
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1
k) Szf 4T xVv1l + 2xdx
0

Find the surface area of the surface
generated by revolving y = x2, for

0 < x < 1, about the x —axis.

1
O S=f21rx2 1+ (2x)%2dx
0

1
O S=f 2w x*V1 + 2x dx
0

1
O S=J.411'x 1+ (2x)2dx
0

O

O

A . Amria

s=201l-e)m

s=40e—e Hm

s=10(e—e Hm

s=20(e—eHm

A rope is to be hung between two
poles 40 m apart. If the rope
assumes the shape of the catenary
y = 10(e*/20 + ¢=%/20),

—20 < x < 20, compute the length

of the rope.

el 58 (e Agiall phad) daloe 3o
0 < x <1Jy=x?
X sl s

A0 M Laghy ) Cpagas O dos (Baled
lgalalan Ao JS& 335 Ad) gaw Juad) oA 1Y)
= 10(ex/2{] + e—x/ZO)

cJaadl Jsb cal (=20 < x < 20



An object is dropped from a height 50 ft gli) Ga Hhﬁ....i

of 50 ft. .Y'(0) 5 y(0) dxilany) Jag il aaa
Identify the initial conditions y(0)
and y’'(0).

O y(0)=50,y'(0)=0

O y(0)=0,y'(0) =50

O y(0)=-50,y(0)=0

O y(0)=0,y'(0) =-50
Find the time of flight of an object 30° Al (@bl aciad (@dadl) (a2
launched at angle 30° with initial .40m/s 4. ) 3.5),.... &

speed 40 m/s.

O t=17.3s
O t=10s

O t=7.07s
O t=4.08s
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Evaluate the integral. LJalsill Aad aaf

Fe=rt T
4+ax2™ f4+4xzdx
1
O —tanlx+c
2
O 2tanlx+c
O 2sinlx+c
1
O =sinlx+c
2
Evaluate the integral. LJalsil) Aad a4
sinVx sinVx
dx J. dx
v Vx
O —2sinVx+c¢
QO -2cosVx+c
O 2sinvx+c
O 2cosvVx+c

A . Amria



Evaluate the integral.

1
[
V3 —2x — x2

x+1
tan‘l( )+c

1 (Xx+1
—tan™ ( )+c

x+1
sin‘l( )+c

Evaluate the integral.

j x%Inx dx

XlInx x2+

——+c
3 3
Xnx a3

——+c
3 9
x31nx+x3+
3 9 " €
J|:3lnx+:rz+

—+c
3 3

A . Amria

J

V3 —2x —x2

LJalsall A8 .I:_»Ji

1
dx

LJalsill dad J.Q.Ji

f x2Inx dx



o O O O

A . Amria

Evaluate the integral.

2
f xe*dx
1

Evaluate the integral.

f cos?x sinx dx

+c

LJalsnl) dad aagf

2
f xe* dx
1

LJalsal) daid J;'s"i

f cos?x sinx dx



tan3 x
O
3
o sec’ x
3
3
sec3 x
@
3
o tan’® x

A . Amria

Evaluate the integral.

ftan.vcse-c3 x dx

Lalsal A8 .I:_\Ji

f tan x sec x dx



LR

NI
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V16 + x?2

x—V16 + x?

x+V16 + x2

V16 + x?

+x+c

+c

=KX+

Evaluate the integral. LJalsil] dad gl

2 2
f Va—x%dx f 4—x2 dx
0 0
Evaluate the integral. LJalsal) Aol aagf
1 1
fot [ as
P V116



Which substitution can be used to

evaluate the integral?

1
—dx
f\fxz - 25
O x=secOtan@
O x=5sech
O x=5sin@
O x=5tan@

Evaluate the integral.

x—5 d
fx"’-—l =

O 3mnjlx+1|+2Injx—1]|+c

O ZInlx+1|-3Injlx—1]|+¢
O 2Injlx+1|+3Injlx—1|+¢

O 3Injx+1|—-2Inlx—1|+¢

A . Amria

dad sla dalaiiad (Sas M Gl L
¢ Jalsil)

1
— dx
fm

LJalsill dad an g

x—D5 d
J-xz-l *



O y=50e'+20

O y=20et-50

QO y=e'+50

O y=20e" +50

O AED 1489.8
O AED 1479.6
O AED 1491.8
O AED 1469.3

A . Amria

Find the solution of the differential
equation y' = y — 50 satisfying
the initial condition y(0) = 70.

If you invest AED 1000 at

an annual morabaha rate of 8%,
find the value of the investment
after 5 years under continuous

compounding.

y' =y —50 dlalil dulaall Ja 22
.¥(0) = 70 AN byl (3aas Al

dugins dasa J3as AED 1000 cspaiind 13}
2 Slgia 5 sy L) dad a4l (8%

-Balesa 4550 Aoy



The differential equation is
separable.
Find the general solution, in an

explicit form if possible.
2

=xJ’+y

f

y

1.2
—=-x“+x+c

QO y=In2x+1]|+c

1.
y=3x ik x'+'c

2

O y?=21n|x+1|+c

A . Amria
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